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Q1) If the nucleus of Carbon isotope has 6 protons and 7 neutrons, so the nucleus

chargeis: a. 1.12x107"® b. 1.28x107*® c. 0.96x10*® d. 2.72x107"
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Q2) If q1= 0, = =4 pC, the electric force acting on (; is:
0: 0, g,=3uC
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Q3) If an electron starts from rest in an electric field E , its speed upon reaching
a distance X inatimetis:

a. 2emt b. 2eEt*m C. (2exm/E)* d. 2exE/m)Y
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Q4) The net electric flux through a closed surface for charge Q located outside the surface is:
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Q5) If 1= 20, =—12 nC, the vertical component (y ) of the electric field at the point p
equals:
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Q6) The Horizontal component ( x ) of the electric field at the point p in Q5 equals:
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Q7) The net resultant electric field Eesyitant at the point p in Q5 equals:
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Q8) The angle (6) of the resultant electric field E esyitant iIn Q5 is:
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Q9) If a charge of 5 uC is located at the point p in Q5, the net forces acting on it equals:

a. 127.25 b. 100.61 c. 67.05 d. 89.45
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Q11) The net electric potential at the point a R nae—— o
due to the two charges equals: ZUC e 59'2 m
10uC (4 20nC (—
a. 1080V b. —900 V c. —720V d. Zero

dalin J sk g DU (5 glasie il (55 i B PUC Lo IS 4 sl o g Cilins EO Caniia g (120
16 gt O i 5 o glaiad ) a5l 48a 4 mm
Q12) Three equal positive charges 8 uC are located at the corners of an equilateral triangle
of side 4 mm. The total potential energy of these three charges equals:
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Q13) An insulator solid sphere of radius 45 cm has a total positive charge of 25 xC uniformly
distributed throughout its volume. The magnitude of the electric field at a point 10 cm from
the center of the sphere equqgls:

a. 370.2 kV/m b. 123.4 kV/m c. 246.9 kV/m d. Zero
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Q14) If the sphere in Q13 is a conducting sphere, the magnitude of the electric field at
5 cm from the center of the sphere is:

a. 370.2 kV/m b. 123.4 kV/m c. 246.9 kV/m d. Zero
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Q15) If the electric field is 9x10° N/C at a point from a long straight filament center and
its charge per unit length is 9 xC/m, this point is far a distance:

a. 20 mm b.20m c. 18 mm d. 9 mm
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k= 9x10°N.m*C?

€, = 8.85 x 10 C¥ N. m?,

le|=1.6x10"C




